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TOTAL NO OF QUESTIONS : 200

QID : 1- In the following question, select the related word pair from the given alternatives.

Options:
1) Sun : Heat
e

2) Earth : Planet
(g
3) Land : Solid
1B
4) Water : Drink
o7t ;
Correct Answer: Earth : Planet
LIk
Candidate Answer: Sun : Heat
cff

QID : 2 - In the following question, select the related word pair from the given alternatives.

Square : Four::7:7
P uad Ry mo fAeed A 9 9dida = gm & g

i =R ?:7?
Options:

1) Rectangle : Five
¥ME - g

2) Hexagon : Seven
S T

3) Rhombus : Six
g : g8

4) Triangle : Three
g :

Correct Answer: Triangle : Three
i

Candid;l: Answer: Triangle : Three

QID : 3 - In the following question, select the related word from the given alternatives.

Forest : Trees : : Book: ?

FmfafEe nad e me e § 9 Fdfta = &t g

v gt Oieh: ?
Options:

1) Pages

o1

2) Bind

g

3) Writer

Sieca

4) Pen
HeTH

Correct Answer: Pages
g
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Candidate Answer: Pages
o8

QID : 4 - In the following question, select the related letters from the given alternatives.
TRAP: YWFU :: FROG : ?
i na d Ry o e & @ Jefa s &t 9w

TRAP: YWFU :: FROG : ?

Options:
1) KHLG

2) KWTL

3) WKLH

4) FGHL

Correct Answer: KWTL

Candidate Answer: KWTL

QID : 5 - In the following question, select the related letters from the given alternatives.
FAN:MZU :: LIP:?

Frfeiea na d e o reed & § Jefia serd &t g

FAN:MZU:: LIP:?

Options:
1) FGA
2) KRO
3) ANP
4) TSQ

Correct Answer: KRO

Candidate Answer: KRO

QID : 6 - In the following question, select the related letters from the given alternatives.
AM:FR::LQ:?

FrfaiEe v d Ry my e & 9 JEfa s & g

AM:FR::LQ:?
Options:
1) HQ

2) NP

3 aqv

4) LS

Correct Answer: QV

Candidate Answer: QV

QID : 7 - In the following question, selectthe related humber from the given alternatives.
46:24::54:7?

FrafefEe nad R mo e 7 9 ¥=iia = 5 g

46:24::54:7

Options:
1) 30

4) 36
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net www.ErForum.Net

Page 2

www.ErForum.Net



www.ErForum.Net

QID : 8 - In the following question, select the related number from the given alternatives.
11:24::23:7
i na d R e Reed # @ S=iia e @ g

11:24::23:7
Options:
1) 42

2) 36
3) 54

4) 58
Correct Answer: 36
Candidate Answer: 36

QID : 9 - In the following question, select the related number from the given alternatives.
ST
P na # Ry e e 7 & S6fia @en @ g

5115 LT ?
Options:
1) 28

4) 25
Correct Answer: 21
Candidate Answer: 21

QID : 10 - In the following question, select the odd word pair from the given alternatives.

FrafeiEe nad R e fAeed d 9@ fevm a= g & gl
Options:

1) Pen — Write

e — fer

2) Ball - Play

g — FerT

3) Food - Eat

T — @

4) Pencil - Stationery
dferer — s g

Correct Answer: Pencil - Stationery
g — e gl

Candidate Answer: Pencil - Stationery
GfEre — e am

QID : 11 - In the following question, select the odd word from the given alternatives.

i na # R me e 7 9 e o= = gim)
Options:

1) Road

GERD

2) Truck

b

3) Car

Eard

4) Scooter

Lead

Correct Answer: Road
R

Candidate Answer: Road
SERD

QID : 12 - In the following question, select the odd word from the given alternatives.

Fraferi@ra na # Ry e e # 9 fwm a= =t 9w
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Options:
1) Rice
I

2) Wheat

3) Maize
HEFRT

4) Crop
e

Correct Answer: Crop
e

Candidate Answer: Crop
el

QID : 13 - In the following question, select the odd letters from the given alternatives.

i na ¥ e o feed d§ 9 fAem sreri o g
Options:

1) GJM

2) HKN

3) MPS

4) NQU
Correct Answer: NQU
Candidate Answer: NQU

QID : 14 - In the following question, select the odd letters from the given alternatives.

FrfefEs nad o mo feed & 9 fem srari & g
Options:
1) LQVA
2) AFKQ
3) CHMR

4) MRWB
Correct Answer: AFKQ
Candidate Answer: AFKQ

QID : 15 - In the following question, select the odd letters from the given alternatives.

FrafefEs g g mo fEeed A 9 R sieri =t gfa

Options:
1) VRNJ

2) CYUQ
3) KGCX

4) SOKG
Correct Answer: KGCX
Candidate Answer: KGCX

QID : 16 - In the following question, select the odd number from the given alternatives.

i nad Ry mo e 7 = fRem = w1 gf)
Options:

)2-12

2)5-28

3)4-24

43-18

Correct Answer: 5 — 28

Candidate Answer: 5 — 28

QID : 17 - In the following question, select the odd number from the given alternatives.

e oa ¥ Ry me fAwed d§ 9 ffvw gen w g
Options:

)11 -13

2)13-17

3)17-19

411-15

Correct Answer: 11 — 15
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Candidate Answer: 11 — 15

QID : 18 - In the following question, select the odd number pair from the given alternatives.

i na d e e e & 9 o g gm &t gl

Options:
1)4-12

2)5-15
3)6-18

4)9-29
Correct Answer: 9 — 29
Candidate Answer: 9 — 29

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Series
2. Singing
3. Secure
4. Sickle
5. Secured

FrfeiEr areel i et # o aTel s & e R ol

1. Series
2. Singing
3. Secure
4. Sickle
5. Secured
Options:
1) 35142
2) 53142
3) 35124
4) 53124
Correct Answer: 35142

Candidate Answer: 35142

QID : 20 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama

Frfefer sreel i et & 3 aret o & SER o

1. Drive

2. Drown
3. Drain

4. Drink

5. Drama
Options:
1) 35421
2) 35412
3) 35214
4) 35241

Correct Answer: 35412
Candidate Answer: 35412

QID : 21 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Price
2. Prize
3. Police
4. Paint
5. Prawn

Frfeier sreel i i # o aTel o & S ER o)

1. Price
2. Prize
3. Police
4. Paint
5. Prawn
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Options:
1) 45123

2) 45213
3) 43521

4) 43512

Correct Answer: 43512

Candidate Answer: 43512

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AG, FM, KS, PY, ?

Ue fRn T man &, s & v g g @1 Ry o e A 2 oy vl fAeen g, S e g s

AG, FM, KS, PY,?

Options:
1) RM

4 YA

Correct Answer: UE

Candidate Answer: UE

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ALK, VGF, QBA, 7, GRQ

T rgeRd T man g, o € o ue g 1 R g freredi A 2 g wel Rreeen gffg, S s = g

ALK, VGF, QBA, ?, GRQ
Options:
1) KST

2) ARP

3) CXD

4) LWV

Correct Answer: LWV

Candidate Answer: LWV

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KPD, QVJ, WBP, CHV, ?

ueh IRA T &, o 9 v ug @ @1 Ry o freeui A 9 =8 w6 Been g, S e o g v

KPD, QVJ, WBR, CHY, 7

Options:
1) INB

2) GXF
3) ICM

4) ZDQ
Correct Answer: INB
Candidate Answer: INE

QID : 25 - In the following question, select the missing number from the given alternatives.
3,7, 11, 63,27, 215,7, 7
FrfafEe ga# R 1g Geed | 9 g s 7 Fifeg)

3,7,11, 63,27, 215,2, 7

Options:

1) 47,513

2) 51,511

3) 51,513

4) 47,511

Correct Answer: 51, 511
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Candidate Answer: [ NOT ANSWERED |

QID : 26 - In the following question, select the missing number from the given alternatives.
18, 45,112.5,7, 703.125
FrfeiEa nad e o e d§ 9 g s 3 S|

18, 45,112.5, 2, 703.125

Options:
1) 217.5
2) 262.25
3) 281.25
4) 27375

Correct Answer: 281.25
Candidate Answer: 281.25

QID : 27 - In the following question, select the missing number from the given alternatives.
30, 68, 130, 222, 350, ?
FrfeiEa ua d e o feed § 9 g ok J1a Hifen|

30, 68,130, 222,350, ?
Options:

1) 504

2) 520

3) 476

4) 448

Correct Answer: 520
Candidate Answer: [ NOT ANSWERED |

QID : 28 - Seg CD is shorter than Seg MN, Seg MN is shorter than Seg TR, Seg AB is shorter than Seg CD and Seg MN is shorter than Seg PQ. Which segment is the
shortest?

e CD @€ MN ¥ 81T ¢, @2 MN @2 TRE 81 8, @2 AB TS CD ¥ 8iar & s @ MN &= PO B Bl | Tad e @ 9 T g?

Options:
1) CD

2) MN
3) PQ

4) AB
Correct Answer: AB
Candidate Answer: AB

QID : 29 - A is B's father's father's daughter-in-law's daughter. If B's father has no brother then how is A related to B?

ABFRm S Rafiag R 8 srrBF R g ons 721 2, A1 A B @ Ry g i &2

Options:
1) grand-daughter

g

2) daughter
EQl

3) mother
Al

4) sister
il

Correct Answer: sister
=T

Candidate Answer: [ NOi ANSWERED |

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.
RECUPERATE
Frferiara Reredi & & @8 =7 g S Ry 7 215 3 18R o TE $¥eh A S o ek

RECUPERATE
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Options:
1) acute

2) trace
3) price

4) erupt
Correct Answer: price
Candidate Answer: price

QID : 31 - If TUESDAY is coded as VWGUFCA, then how will COW be coded as?

Tf¥ TUESDAY i %12 # VWGUFCA @ sirar & &t cCow =t hte & an forgh?

Options:
1) EQY

2) XLD
3) BNV

4) DPX
Correct Answer: EQY
Candidate Answer: EQY

QID : 32 - In a certain code language, 2369 means 'master class is fun, 9527 means ‘act is class apart' and 1349 means 'we have fun class’. Find the code for 'fun’.

et Pfeya =g wmen 7 2369 1 orf & 'master class is fun', 9527 %1 9% & ‘act is class apart' 9 1349 &1 31 ¢ 'we have fun class'| ‘fun' & oo g I &

Options:
1) 2

26
3)3

49
Correct Answer: 3
Candidate Answer: 3

QID : 33 - In a certain code language, '+' represents - - represents ¥, X' represents = and = represents '+. Find out the answer to the following question.
16-25x40+60+15=7
forelt ffya g v & '+, - S veRia aran g, &, X & ueli aRan &, ', '+ o veiiE o § ofi '+ '+ ot ueiia awan &) Pt v o em aa e

16-25%x40+60+15=7
Options:

1) 14

2) 72

3) 55

4) 63

Correct Answer: 55
Candidate Answer: 55

QID:34-1f72$20=46 and 1% 27 =14 then find the value of 10§ 44 =7

72 $20=46 31 $27 =14d1 10 § 44 = ? 1 7 Fid e?
Options:

1) 34

2) 54

3 27

4 17

Correct Answer: 27

Candidate Answer: 27

QID:35-1f A $ Bmeans Als son of B, A# Bmeans A is brother of B and If A* B means A is father of B, then what does P#Q $ R* S mean?

aASBI A H A BT HE A#BF NI FA BT EE R A*BFm aIgfFABw g a P# Q$ R* S o i @2

Options:

1) Pis father of S

P S fian &

2) Pis father's father of S
P, S & ftrem 7 form @

3) Pis brother of S

P S g §

4) Pissonof S
PSHIGE
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Correct Answer: P is brother of S
PS4 §

Candidate Answer: [ NOT ANSWERED |
QID: 36 -

Select the missing number from the given responses

e U et & 3 w e g

Options:
1) 2

21
3)1

4) 10
Correct Answer: 10
Candidate Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?
AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Frafef@e 7 & o a1 ug § e g2 & 9 & eEr &7

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Options:

1) AAAAAABA

2) AAABAAAA

3) AAAABAAA

4) AAAAABAA

Correct Answer: AAABAAAA

Candidate Answer: AAABAAAA

QID : 38 - A Shopping mall worker loads his trolley and walks 50 m through an alley which is going North, then he turns to his left and walks 15 m, then he turns South
and walks another 15 m, then he turns East and walks 25 m and then he turns south and walks 35 m. Where is he now with reference to his starting position?

STehT Hiel & ST e 9T Ueh 2 eh AUt et ot 12ae 50 ee R & o & 91T 81 fife 1 a7 9k gga 15 Hiex e &1 39& a1 98 &f8ir 6 3R qga 15 Hex gaan &, e
T8 25 Hiex gf & iR I § o iR ofdior & ok gaaw 35 Hiee o 9eran 1 oE a8 Ao uRies R @ e R w

Options:

1) 10 m West

10 Atz ufdm

2) 10 m East
10 Az gd

3) 40 m East
40 Hez g

4) 40 m West
40 Hrez ufgm

Correct Answer: 10 m East
10 Az gd

Candidate Answer: 10 m East
10 Az gd

QID : 39 - Two battle tanks start from the same point. Tank A travels 12 km South, then turns to its left and travels 7 km. Tank B travels 7 km South, then turns West
and travels 9 km, then turns to its left and travels 5 km. Where is tank A with respectto tank B?

21 gg U U o folg @ se uRY e € | Ea A, 12 feneirftex afdor &t ok awran & ofik fife ard ok qeam 7 Rl aean &1 & B, 7 Rreitdtex aféior i off geran @ ofi R ofgm
& R HEee 9 fereiter aetan &, o oroett aTd ofiR Hgame 5 fenefiie oot &1 & B & Teof & 8 A ohgl €7
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Options:

1) 16 km West
16

2) 2km East

2 Rreiiviee gd
3) 2km West

2 fErerier ufdm
4) 16 km East
16

Correct Answer: 16 km East
16 fereiie od

Candidate Answer: 2 km East
2 e o

QID : 40 - In the question two statements are given, followed by two conclusions, | and 1. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given staterments.

Statement I: Mo cats are dogs
Statement ll: Some cats are carnivores
Conclusion I: All dogs are carnivores
Conclusion II: All carnivores are dogs

uel & sy el ) € ovads ot 2 e | o 11 Freprel 1 &)1 oot AT @ 6 S R O & A 98 I T g 3 99 el g 8 smaent Fofa s & & iy g
el & & F-gy/#9-8 Pffa wu & wu gR9et Femren o g &/gea & aft S an

A |: S R g A
e II: e Rt aaed &

P 1 oft 7 e §
freend I1: ooft s 2 &

Options:

1) Only conclusion | follows

Sheret frrerd | TEt

2) Only conclusion Il follows

et e 1| Tgt &

3) Both conclusions | and 11 follow
gt frrered | o 11 Tt &

4) Neither conclusion | nor conclusion Il follows

1 it Frsarel | T8t & =1 & Frvemd 11

Correct Answer: Neither conclusion | nor conclusion 11 follows

1 it Freared | gt & =1 & P 11

Candidate Answer: Neither conclusion | nor conclusion 11 follows
= & e | TrEt & = 8 fersewd 11

QID : 41 - In the question three statements are given, followed by three conclusions, 1,11 and [11. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No bronze is copper
Statement II: Some alloy is bronze
Statement Ill: Some zinc is alloy

Conclusion I: Some zinc is bronze
Conclusion II: Some copper is zinc
Conclusion lll: some alloy is copper

ool § offr e R A € ovads amt e Freemd |, 11 otz 1) Frepret M &) siueRt BT & R AT e O 2 18 a8 areeaa: T el @ 99 wefia gl el ) ot Pofa s & & e me
Foreeref & & Fm-an/@A-8 Bfda =0 & su= Zr 9 e o O /9 & aft e an

e | g i afer g §
A II: FB oy dae &
e Nl § ST o1 &

e I g w1 diaw 2

frendd II: F& afar S e

Freened 11 355 urg ATET

Options:

1) Only conclusions | and Il follow
e 1R Il =d &

2) Only conclusions 1l and 11l follow

et fereerd 1| 32 111 Tt €

3) All conclusions |, 11 and Il follow

= P 1, 11 o 11 TET &

4) None of the conclusions follow

Y e |, 11 of 11 TR R &

Correct Answer: None of the conclusions follow
AT Fremed |, 11 o= 11 et TeT &
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Candidate Answer: None of the conclusions follow

AT fersemd |, 11 9 111 =2t et &
QiD: 42 -
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

RIfoTRET TR STTHIT o W B AT & U Y 7
aTepfer o et B A SR TET I TehelT?

Options:

1)
2)
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Correct Answer:

Candidate Answer:

iy

QiD: 43 -
\Which of the following answer figure patterns
can be combined to make tha question figure?
Pttt wm amples 4 Sy i & w1
g f&n T oy s1eply 1 g=ET o waa £

I

Options:

1)

2

3

4)

Correct Answer:

Candidate Answer:
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QlD: 44 -
In the following figure, square represents
astronauts, triangle represents swimmers,
circle represents women and rectangle
represents Indians. Which set of letters
represents women who are either

astronauts or swimmers?

frrAfae e o o7, e T Hefsie o &,
Pyt el 1 pafife w8, 9w, aferel @ 2k
T AR I Ha T e 23R S ST °r @8
el & Haf3fa e & 9o Jr ey
gar v E2

Options:
1) FHGI

2) DEIA

3) IBFG

4) FHI

Correct Answer: FHI

Candidate Answer: FHI

QID: 45 -
Which of the following Venn diagrams represenis the
relationship between Pencils, Pens and Writing
instruments 7

FfeTRad # § &iF 91 dfes Uftee, U= 31k ferg &1
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Options:
1)

© ® ® &

Correct Answer:

)

Candidate Answer:

QID: 46 -
Which answer figure will complete the pattern in the

question figure?

fr=ifeiRaa & & @l IT gl vy arfer & uftRey
DI FHI?
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Options:
1)

Correct Answer:

Candidate Answer:
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QID : 47 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

& Rt TR Sl 7 & 99 ek w g R wa
afar fife &

Options:
1)

Correct Answer:

N

www.ErForum.Net

www.ErForum.Net www.ErForum.Net



www.ErForum.Net Page 17

Candidate Answer:

N

QiD:48-

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T ST ¥ T SR PIIS I HISH I
WE Y AT GleT & 91¢ I8 fobe T DT ST

feseas <mm?
[1

Options:
1)

www.ErForum.Net
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Candidate Answer:

N7
D q
VA - N

QID: 49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

I T gdor et MIN RRET 0% RaT 311 at < Rt SR
STEIeTaT ™ A BT STPIeT T4 SIPIer BT ey

by
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Options:
1)

& & KK

Correct Answer:

Candidate Answer:

%
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QID:50-

A word is represented by only one set of numbers as given in any ane of
the alternatives, The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-1l are numbered from 5 to 9. A letter from these matrices can
be reprasanted first by its row and next by its column, for example 'C' can
be representad by 31, 43 etc and "W can be represented by 76, 89 elc.
Similatly. you have to identify the set for the word 'SODA

s 91e el e SiRE-E w1 st v B, e R Rieedt H 4 Rl v
ey e 1 Rrerent & R T e are & a1 A sy s g 8, S f
Ry g = et H 81 ArenE-1 & e 3R vl T e o 4 3 sregE-
5 9 9 %) 37 Tl & U R BT vERd SR Uk AR a1 Wy e g
2T ST el 2) IR <k (0GRl 31, 43 311S GRT 39T S Fhe & ey
W' T 76, 89 af T Swifar T T & gt ave W et wa o Ry e
'SODA" % {10 | 1 U&= 31

| Matrix | FTEE-l Matrin || STTETE-H

| [0 1 2 3 4 5 6 | 7 8 9

o | s | a1 ] almn g s 9| # X

| 1 a A o 8 L & 5 T | T v o]
] B D A F L 7 T W | w 5 T
3 L cl & B B g a A e T | w
4 B [ B C B 9 a BT 5 K

Options:

1) 65,85,21,40
2) 78,87,12,03
3) 55,67,12,33

4) 98,69,22,14
Correct Answer: 78,87,12,03
Candidate Answer: 78,87,12,03

QID : 51 - By what name is the BRICS bank presently known?

forerg & ot gt & feRg e & o o &7

Options:

1) BRICS Development Bank

o ey

2) Afro-Asia Development Bank

OR-Ufirn 2aeude d%

3) New Development Bank
S

3

4) No option is correct.

e e w8 T8 &

Correct Answer: New Development Bank
= SIAUHE dh

Candidate Answer: Afro-Asia Development Bank
wRt-ufara 2aemde §5

QID : 52 - What does parallel economy mean?

TAMTER Srefeoaea & &1 aread 87

Options:

1) Black Money
T e

2) Parallel Business
TAMTER T

3) lllegal Economy
3 Hefemaen

4) No option is correct.
frwea
Correct Answer: Black Money

ShIeAT &

Candidate Answer: Parallel Business
FAMTER TR
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QID : 53 - Who implements monetary policy in India?

WA H Hifges il F= any awan 87

Options:
1) NITI Aayog
ifer amam

2) RBI
YR

3) Ministry of Finance
oy mater
4) Parliament

|H

Correct Answer: RBI
Rt o &

Candidate Answer: RBI
YR Red &

QID : 54 - The ARDC is a branch of the NABARD. What is the full form of ARDC?

ARDC AITaTE Y U 217 & ARDC 1 931 9 &1 §?

Options:
1) Agricultural Research and Development Corporation
Y SEYE R e

2) Agriculture and River Development Cooperation
3 71t feremr mgEm

3) Agricultural Reform and Development Cooperation
W gur AR e ggam

4) Agricultural Refinance and Development Corporation
IGearatue

Correct Answer: Agricultural Refinance and Development Corporation
T g iR A P
Candidate Answer: Agricultural Reform and Development Cooperation
Y GUR AR faenrg wgan

QID : 55 - Which of the following is a part of machinery that settles industrial dispuites?

Fr=fef@a § & wm o mfid 1 ves e & i ofeifires el @ froem = 27

Options:
1) Labour Court
= T

2) Industrial Tribunal
et

3) Work Committee
Frd gy

4) All options are correct.
e Tal 8.

Correct Answer: All options are correct.
TEE.

oft R

Candidate Answer: All options are correct.
Tt g oEt €.

QID : 56 - In which year Nagaland was created as separate state?

foF e ANTISIS R SR T & T H ST 7 A

Options:
1) 1961

2) 1962
3) 1963

4) 1964
Correct Answer: 1963
Candidate Answer: 1962

QID : 57 - Whiich one of the following is responsible for the preparation and presentation of Union Budget?

Frafafae 4 @ o i soe & dard ok ngfa & forg Beer 87
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Options:
1) Department of Economic Affairs
& fermm

2) Department of Revenue
Irored fasmr

3) Department of Expenditure
ey

4) No option is correct.
TR &

Correct Answer: Department of Economic Affairs

anfefes A & e
Candidate Answer: | NOT ANSWERED |

QID : 58 - Who presided over the inaugural meeting of the Constituent Assembly of India?

WA I TfeT T i gl 35 i e e i off?
Options:

1) Dr Rajendra Prasad

2l Troig T

2) Dr Sachchidanand Sinha

il g famgt

3) BR Ambedkar

df o sfdgaR

4) Sardar Patel

TER B

Correct Answer: Dr Sachchidanand Sinha

& afeerg R

Candidate Answer: Dr Sachchidanand Sinha
= afeere R

QID : 59 - Which of the following was not adopted from the Maurya Dynasty in the emblem of Government of India?

YRd WHR & Ucie ¥ Frefeiiad & § s Hiaf 927 § org=man g wan ar?
Options:
1) Satyameva Jayate

Soct

2) Bull

g
3) Horse
orer

4) ‘Four Lions
TR R

Correct Answer: Satyameva Jayate
Teghg wad

Candidate Answer: Bull
wig
QID : 60 - The first session of Constituent Assembly cf India was held in which of the following cities?

WA & "y g & ugen 97 e 7 € e agr A gen ur?

Options:
1_) Bombay
ECE

2) Madras
HaH

3) Culcutta
Shetchl

4) Delhi
el
Correct Answer: Delhi

Candidate Answer: Delhi
fait

QID : 61 - Which of the following is the best example of Vijaynagar Art?
Frefofae 5 § &9 1 FearR wel o TeE e IIE0T 8?7
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Options:
1) Ajanta

Correct Answer: Hampi

Candidate Answer: Puri

QID : 62 - Taxila was capital of which among the 16 Mahajanpadas?
16 HgToiaal § & fehehi Tt aefe off?

Options:

1) Kosala

T

2) Kuru

£

3) vajji

afew

4) Gandhara

MR

Correct Answer: Gandhara
YR

Candidate Answer: Kuru
g

QID : 63 - Who was founder of Mughal Empire in India?

WA F I AT & YRS i o417

Options:

1) Babur
EIEES

2) Humayun
BT,

3) Akbar
HehdY

4) ‘_Jahangir
SteiiR

Correct Answer: Babur
CIEES

Candidate Answer: Babur
CICES

QID : 64 - Where did Vasco da Gama arrive in India in 145987

areer! 7€ 11498 F wRa A sl smar un?
Options:

1) Madras

™

2) Calcutta

heldh=ll

3) Calicut

EocicT

4) Bombay

EcE]

Correct Answer: Calicut
FHeftae

Candidate Answer: Calicut
Eicichd

QID : 65 - According to the treaty of Srirangapattanam, which of the following was ceded to the British?

#rugorm § 1Y & e, Fefefaa 4 @ e ffty o wiu Rarmr ar
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Correct Answer: Malabar
A=

Candidate Answer: [ NOT ANSWERED |

QID : 66 - By what name is the Ganga known in Bangladesh?

SIS AT F T ST AT o 8?7

Options:
1) Padma
=

2) Ganga

m
3) Damodar

4) Meghna
FET

Correct Answer: Padma
=T

Candidate Answer: Padma
=

QID : 67 - Which of the following are not kharif crops?

FTH I B I TE I T8l 87

Options:

1) Maize and Rice

TeFehT 3R ATae

2) Arhar and Soyabean

IR A g

3) Wheat and Barley

g IR S

4) Ragi and Groundnut

Correct Answer: Wheat and Barley
g IR

Candidate Answer: Maize and Rice
HeRT SR TTEe

QID : 68 - How many seismic stations are required to locate the epicentre of an earthquake?

e 2 S R U T o Ty feRery et R A smasaesa gl 7

Options:

1) 3

24

35

4) 6

Correct Answer: 3
Candidate Answer: 5

QID : 69 - Madhya Pradesh shares its border with how many States?

we wesn fohamt el & Ty otusil <fimy aE e 87

Options:
15

24
36

43
Correct Answer: 5
Candidate Answer: 6

QID : 70 - Palghat joins which of the following states?
orerne e & @ fem e s e &2
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Options:
1) Goa and Maharashtra
T SR

HEIRTE
2) Kerala and Kamnataka
el IR efed

3) Tamil Nadu and Kerala

AT 3R et

4) Mizoram and Manipur
R ik AfoR

Correct Answer: Tamil Nadu and Kerala
affemTg R Fe

Candidate Answer: | NOT ANSWERED |

QID : 71 - Which of the following authorities regulates NPS?

e 7 & gedfteg =1 Rffaes &9 Fwar g7

Options:
1) IRDA

2) PFRDA

i1kl Eciig

3) CAG

4) SEBI
Zreft

Correct Answer: PFRDA
drmemrd

Candidate Answer: SEBI
Feft

QID : 72 - Which of the following is a centrally sponsored scheme to empower adolescent girls?

iR wreferal ot aure &7 & o 379 @ o A1 g urifSra dist 82
Options:

1) SAKSHAM

HEH

2) ABLA

SEAT

3) SABLA

el

4) BBBPS

Correct Answer: SABLA
LEG

Candidate Answer: [ NOT ANSWERED ]

Page 25

QID : 73 - Which among the following has inscribed Kumbh Mela on the Representative List of Intangible Cultural Heritage of Humanity?

et A § Eas Araar & srgd i frma & ofa=ie == 4 5+ Aot & anfie fmn 82

Options:

1) WHO
FEua A
2) UNCTAD

3) ADB

ofSrare e &

4) UNESCO

Correct Answer: UNESCO

Candidate Answer: UNESCO

QID : 74 - Who has been appointed as the General Manager of Board of Control for Cricket in India?

9Ra # fEhdhe &t il F 1@ 91 & AgmEYE & wu A R Frgw ranmn &2
Options:

1) MV Sridhar

et ofieR

2) Saba Karim

a1 A

3) Rahul Johri

g Sigd

4) Anurag Thakur

ST BTH
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Correct Answer: Saba Karim
T A

Candidate Answer: MV Sridhar
offer

QID : 75 - FIFA World Cup 2022 will be held in which country?

Fior sy w2022 & 31 7 smaifora B smom?

Options:
1) Russia

=
&Fpain
3) Ukrain
4) Qatar

el

Correct Answer: Qatar
held

Candidate Answer: Spain
o

QID : 76 - "The Idea of Justice" is written by ;

'g amgfEm sifts s g et e &1
Options:

1! Ravindra Singh
GH

2) Mamta Banerjee
AT et

3) Amartya Sen
ek

4) Abhinav Bindra
e famer

Correct Answer: Amartya Sen
ket

Candidate Answer: Amartya Sen
e g9

QID : 77 - Which author has been made Companion of Honour on December 12, 20177

frgmEe 12, 2017 =t vy o /2R =t oo oty iR sman mar 22

Options:

1) J. K. Rowling

9. &. A

2) Roald Dahl
e T

3) Charlotte Bronte
Trefe @i

4) Jane Austen

Correct Answer: .J. K. Rowling
1. &. dfeim

Candidate Answer: [ NOT ANSWERED |

QID : 78 - 315! Surajkund International Crafts Mela has begun at which of the following city?

31-af qEorhe SeRieta f@en fon Fefaras 7 & forg age & oy gam un?
Options:

1) Faridabad

HETETG

2) Jaipur

SR

3) New Delhi

7 Rt

4) Jaisalmer
Correct Answer: Faridabad
EETETE

Candidate Answer: Faridabad
TRTEG
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QID : 79 - ONGC Videsh has got a two year extension to explore which country's Qil block-128 in the south China sea?

ettt fagar = gffior = wrR & v 213 O siic-128 & Taaee & o of a o fera faem &7

Options:
1) Cambodia
rifaar

2) Vietnam
o™

3) Taiwan
digar-

4) Philippines
firetidir

Correct Answer: Vietnam

Candidate Answer: Philippines
et

QID : 80 - The 5" India-Sri Lanka joint training exercise "Mitra Shakti 2017" was held in which state of India?

5 af wRa-fieen 9w I st s ARy 20177 wRA & 30 I § amafora f2ma mar ur?

Options:
1) New Delhi
= Rt

2) Tamil Nadu

3) Maharashtra

HeRTE

4) West Bengal

ofgym s

Correct Answer: Maharashtra
HERIE

Candidate Answer: Tamil Nadu
afferTg

QID:81-BIOSisa .

I. non-volatile firmware
I Volatile firmware
Ill. Software stored on a small memory chip on motherboard

BIOS U= gl

1. e-afted g widax
1. uftadsig widae
I, AEzaiE W U Bt 9 A9 g or giedar s gug
Options:

1) Only |

et |

2) Only Il

Faall

3) Only land Il
e | qan il

4) Only lland 11
Faet i

Correct Answer: Only | and Il
et | Ut il

Candidate Answer: [ NOT ANSWERED |

QID : 82 - Which of the following is TRUE?

e s aa o7

Options:

1) Primary memory is non-volatile.

e FAR Aot g

2) Secondary memary is volatile,
AR o gl 2

3) ROM is non-volatile memory.

W R-uRedg gt &1

4) RAM is non-volatile memory.

W RaReda gt 2

Correct Answer: ROM is non-volatile memory.

I R-afadfia gt &1

Candidate Answer: RAM is non-volatile memory.
¥ fofad=a gt 8

www.ErForum.Net

www.ErForum.Net www.ErForum.Net



www.ErForum.Net

QID : 83 - Which of the following metal remains in liquid form at room temperature?

Frfefea & § o =t org wat a1 W g2y ®UH gl 87

Options:
1) Cadmium
ey

2) Mercury
T

3) Germanium
wRefET

4) Tin

o

Correct Answer: Mercury
TR=T

Candidate Answer: Mercury
=T

QID : 84 - Aqua regia is a mixture of "

ST 31T (Teran YfSTa) =1 ror g &1

Options:

1) dilute hydrocloric acid and concentrated nitric acid.

o BISSIaRlIies et auT |ig ATEfes st

2) dilute sulfuric acid and dilute hydrocloric acidic.

] YRR 31 d T BEIaelIiG: arFl

3) concentrated sulfuric acid and dilute nitric acid.

Tig GERIRe 3 a1 a7 TSR o

4) concentrated hydrocloric acid and concentrated nitric acid.

TiE RS e auT Tig ARl e

Correct Answer: concentrated hydrocloric acid and concentrated nitric acid.
Tig, gTE SN 3T AU Fig AEfeF s

Candidate Answer: concentrated sulfuric acid and dilute nitric acid.
i GeRIRE e U1 a7 el sre

QID : 85 - In a concave mirror if object is placed at centre of curvature, then image will be

U HeEae guor § afe e &t awran g | Fad €, 9t a9 aren it gl

Options:
1) virtual
SIATE

2) erect

e

3) diminished
are

4) at the centre of curvature
Thd & s W

Correct Answer: at the centre of curvature
aehd & g U Rl

Candidate Answer: virtual
STt

QID : 86 - What is the mass of 4 mole of aluminium atoms?

wegfA oy & el & 4 Hier e germE e 2

Options:
1) 120 grams
120 A
2) 108 grams
108 ImH
3) 136 grams
136 TH
4) 140 grams
140 oM

Correct Answer: 108 arams
108 uH

Candidate Answer: 108 grams
108 U=

QID : 87 - Which of the following particles were made to fall on a thin gold foil by Ernest Rutherford?

Frefofera 7 & srfee TeRorE 3 S & ol =it S i o=l w e ur?
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Options:
1) Gamma
AT

2) Beta
iz

3) Electron

e

4) Alpha

SR

Correct Answer: Alpha
SRl

Candidate Answer: Alpha
TR

QID : 88 - Which of the following statement(s) is/are TRUE?

I. Fuse is generally placed in series with the device.
II. Fuse is generally placed in parallel with the device.
Ill. Fuse wire has high melting point.

Frafaf@e & & = ar/@ su e 8/8?

1. TR ! AT ek & 91y Aufis § goifea sa #)
Il W o1 OTATAE: gk o a1y aiefeen § Saifed s 81
1. ST AR &1 e Je i 2|

Options:

1) Only |

Fae |

2) Only Il
Faa ll

3) Only land 1ll
el | qan il

4) Only Il and Il
et |l au i

Correct Answer: Only |
et |

Candidate Answer: Only |
et |

Page 29

QID : 89 - A rectangular coil of copper wire is rotating in a magnetic field. The direction of the induced current changes once in each?

diet & A &Y Ueh WraATeRR el fomet deehi & & quff o o w6t &1 39 el ¥ O fega a6 fen A fra ufymor & uyma g @7

Options:
1) Two revolutions

2) One revolution

Gk o

3) Half revolution

ST o

4) One fourth revolution

e g o

Correct Answer: Half revolution
ST o

Candidate Answer: [ NOT ANSWERED |

QID : 90 - Noise is measured in which unit?

R &t B ged & w1 e 87
Options:

1) Watt

Cird

2) Faraday

TS

3) Pascal

Ehel
4) Decibel
e

Correct Answer: Decibel

Candidate Answer: Decibel
Esic

QID : 91 - Which of the following vitamin helps in clotting of blood?

FrefefeEd § € e o1 Bef@= & & Shed 8 TgTadl Hiear 87
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Options:

1) Vitamin A
e A

2) Vitamin B
fafEm B

3) Vitamin D
R D

4) Vitamin K
e K
Correct Answer: Vitamin K
et K

Candidate Answer: Vitamin K
Rrefm K

QID : 92 - During heavy exercise, breathing rate in an average adult person can increase upto per minute.

e =Ty B & g, ot offe g it gma ) ufar fiFe o a2 gt 81
Options:

1) 15

2) 20

3) 25

4) 30

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED |

QID : 93 - Why is the colour of human blood red?

O T o1 301 &1 i g 87

Options:
1) Because of myoglobin

& RT
2) Because of haemoglobin
grrEifae & R
3) Because of immunoglobin
R & HRo
4) Because of heptoglobin
BEEfa & R

Correct Answer: Because of haemoglobin

gmrsifas & R

Candidate Answer: Because of haemoglobin

ganEifE & Ry

QID : 94 - Which of the following statement is INCORRECT?
i@ & & 55 a1 Fue a8 7@ 8?7

Options:

1) Oviparous animal does not give birth to young ones.
gyt Sig ARt Ry = w7a 78 4

2) Each spermis a single cell.

T Y[ERIV] U Uahel hilAeT &1

3) External fertilisation takes place in frog.

Hewh A arg] AT S 81

4) Fertilisation is necessary even in asexual reproduction.
St S F off P amargs 2

Correct Answer: Fertilisation is necessary even in asexual reproduction.
It Tiver S & oft Prirr omerae 2

Candidate Answer: Fertilisation is necessary even in asexual reproduction.

It ST A off Fréeer smaras 2

QID : 95 - What is the cause of arise of myopia?
fFrerz 5f® &iw Feaa g &1 = o e?

Options:
1) Excessive curvature of the eye lens.
1 TR 1 AU BT

2) Eye ball becomes too small.
¥ Tt & BT 8 Sl

3) Focal length of the eye iens becomes too long.
Sif 9= &1 e gt ofdes g

4) Lack of sleep.

g, &t et

Correct Answer: Excessive curvature of the eye lens.
N el kel T HISE g

Candidate Answer: Focal length of the eye lens becomes too long.
= T [
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QID : 96 - Which of the following multiplies very slowly in comparison to others?

e 74 9 g i gomn A aga IR o e 87
Options:
1) Bacteria

2) Virus
3) Fungi

e
4) Worms

Correct Answer: Worms

Candidate Answer: Worms

QID : 97 - The accumulation of non-degradable chemicals progressively at each trophic level is called

Ul TPl TR W 7€ 9 g Oy EEEl & I9g T &
Options:

1) biological magnification
ﬂﬁmq‘éﬁﬂm

2) chemical magnification
FrgawoT

3) residue magnification

Imew

4) No option is correct.
[EcT El

Correct Answer: biological magnification

Candidate Answer: residue magnification
et gigartor

QID : 98 - Why Taj Mahal is suffering from "Marble Cancer"?

Options:

1) Because of sulphur dioxide

T STFHTFIEE & FRUT

2) Because of nitrogen dioxide

A STEHTFITES & HRT

3) Because of chloroflurocarbon
& HROT

4) Because of carbon dioxide

e TS & HRT

Correct Answer: Because of sulphur dioxide
T BIFHITHTEE & HRUT

Candidate Answer: Because of sulphur dioxide
T STFAHTRITEE & FRUT

QID : 99 - Cancer treatment is done by which of the following noble gas?

Fo o IR Pefef@a A 2 wm ot afvo fg g o sran &2

Options:
1) Helium

2) Radon
ESi

3) Krypton
Earac

4) Neon

Fraita
Correct Answer: Radon
=

Candidate Answer: Radon
et

QID : 100 - How many types of ecological pyramids are present in ecosystem?

o &= 7 e mer & miffd e g g
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4) Five
Correct Answer: Three
Gict

Candidate Answer: Two

QID : 101 - Which one of the following brick is suitable for the high-class brick masonry?
Frfei@a g 8 € &9 a1 s g Aol & 42 g & e sugh 7

Options:

1) Bull nose bricks

e o1

2) Jhumb bricks

e () €

3) Modular bricks
€

4) Under burnt bricks
FH S 5

Correct Answer: Modular bricks
TSR &

Candidate Answer: Modular bricks
Hieger ¥

QID : 102 - Which of the following is the correct reason for soaking the brick in water before lis use?

Frfofea 4 @ = a1 g i 3ud Iuah & ugat ot F A & adt R 7

Options:

1) For preventing adsorption of moisture from mortar by bricks
2 Zr1Ee & 7t = O A & g

2) For reducing air void

arg F=h ot 9 = & forg
3) For reducing efflorescence

Feeer A FI & fog

4) For cleaning

TR & o ferg

Correct Answer: For preventing adsorption of moisture from mortar by bricks
& g @ & At I & g

Candidate Answer: For preventing adsorption of moisture from mortar by bricks
€21 g ew & At 7 Wree de &

QID : 103 - Which of the following compound affects the ultimate strength of cement?

et 7 @ o1 I diifes Diee 6t ae 21k St wenfEe e g2

Options:
1) Dicalcium silicate
e HicmH
2) Tetracalcium alumino-ferrite
2z1 Shfearm argfirt-tege
3) Tricalcium aluminate
[
4) Tricalcium silicate
o

Correct Answer: Dicalcium silicate
T Shferr fafedhe

Candidate Answer: Tricalcium aluminate

o1 ieRram s

QID : 104 - Refractory bricks are generally used to resist .

gridamdrw Ry o & o fvar sman &
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Options:
1) chemical action
Tt R

2) dampness
C|

3) high temperature
F= dT9HE

4) weathering action
HAET

Correct Answer: high temperature
g dTaH

Candidate Answer: high temperature
g dTgA

QID : 105 - Which of the following is the correct percentage of maximum moisture content based in sand where change in volume is maximum?

Frafef@e 4 & o a1 @ & e oftean i & 98 ufiem 8 o1 smras & uRad= sftesaw g 22
Options:

1) 5%

2) 9%

3) 12%

4) 15%

Correct Answer: 5%

Candidate Answer: 5%

QID : 106 - Which one of the following cement is best for the marine works?

e & & & o e gndl s & forg walam &7

Options:

1) Blast furnace slag cement
- gl @ e

2) High alumina cement

I iz

3) Low heat Portland cement
&r T giéete dide

4) Rapid hardening cement
e v die

Correct Answer: Blast furnace slag cement
ar-g s e

Candidate Answer: Blast furnace slag cement
I e e

QID : 107 - Which of the following is limit of the moisture content that can be achieved in the air drying process of timber?

e 7 F i = =t It R i & St @t frarg wimor S itk # o B o awa g7

Options:
1) 10%
2) 15%
3) 20%
4) 28%

Correct Answer: 15%
Candidate Answer: 10%

QID : 108 - Which of the following proportion of cement and standard sand is used in cement mortar while testing the compressive and tensile strength of cement?

iz 3R s Y & e e | @ o wat e o @, waies & Hdie af o areRa o v e &2

Options:
1) 1:2

4) 16
Correct Answer: 1:3
Candidate Answer: 1:2

QID : 109 - Which of the following is the important factor that affects the shrinkage of cement concrete?

e 7 & Fm-T Ayl SR & S HiHe Fithe & e ot e s &7
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Options:
1) Quantity of cement
AT
2) Size of coarse aggregates
& YT &l HIh
3) Size of the fine aggregate

HEA GHTY 1 AT
4) Amount of water added during mixing of concrete
&Y & oot & R RS o & amn

Correct Answer: Amount of water added during mixing of concrete
&t o et & SR ffaa ot & am

Candidate Answer: Size of the fine aggregate
&Y =T 1 HATHR

QID : 110 - Calculate the proportion (in percentage) of fine aggregate in combined aggregate so that the fineness modulus of the combined agaregate becomes 6.4.
The fineness modulus of coarse aggregate and fine aggregate in the concrete mix is 7.6 and 2.8 respectively.

ok TeId H gen e o U (UfaRra #) e oL arfes T 9y Sl YeHdT A 6.4 8T | shibie et & w5 Fwey o 9an 9T o YaHd1 A HERT 7.6
288

Options:
1) 20

2) 33.33
3)35

4) 66.6
Correct Answer: 33.33
Candidate Answer: 33.33

QID : 111 - Which of the following unit is used for estimation of D.P.C. work?

fr=r 7 & 35 3912 =7 waim D.P.C. & & s & fore rar sTan @2

Options:
1) Number

e

2) Cubic meter
o Hie

3) Running meter
e e

4) Square meter
aif Hiex

Correct Answer: Square meter

af dtex

Candidate Answer: Square meter
& #iex

QID : 112 - Calculate the quantity of the sand required (in cubic meter) in 20 cubic meters of reinforced cement concrete (1:2: 4).

(1:2:4) vafera Iz dhehte & 20 991 el & anasde W@ &1 A (99 e ) i e )

Options:
1) 2.87

4) 8.8
Correct Answer: 8.8
Candidate Answer: | NOT ANSWERED |

QID : 113 - Deduction at cross wall for total length of the central line is :

FomArgaarE F s dmm s &
Options:
Qﬁl]‘lflf of thickness of wall.
fem i AT
2) no deduction.
IS SRer Tal
3) thickness of wall
&R &
4) twice of the thickness of wall
Herg &1 g
Correct Answer: thickness of wall

e 35 e
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Candidate Answer: thickness of wall
&R 5 A

QID : 114 - Calculate the quantity of the earth works in cubic meter for a canal embankment of 100 m long having cross section areas at the two sections are 20
square meters and 80 square meters. Use trapezoidal method.

100 Hiex 7@ Ue T8 & forg @erE &1 mor o Jiex & 2 forge sayRy #e sawe of @2t A 20 9t Hiex o 80 o Hiex | gneraaR fafd & mam &)

Options:
1) 2000
2) 5000
3) 7000
4) 10000

Correct Answer: 5000
Candidate Answer: [ NOT ANSWERED |

QID : 115 - Accuracy in measurement of the area should be s

Sy om dodma__ sy

Options:
1) 1 square centimeter
1 & Fériex

2) 10 square centimeter
10 =f §&rex

3) 100 square centimeter
100 =rf

4) 1 square meter

1@t R

Correct Answer: 100 square centimeter
100 @ e

Candidate Answer: | NOT ANSWERED |

QID : 116 - For estimation of painted area of corrugated asbestos cement sheets, percentage increase in area above the painted area is .

Tefler vodwy gz o F G 7 amgem & oy dou s T e Avfasaafy . #)

Options:

1) 10%

2) 14%

3) 20%

4) 25%

Correct Answer: 20%
Candidate Answer: 20%

QID : 117 - Which of the following is the purpose of the valuation?

e & § &1 T U geaieh o 9g2a 87
Options:
1) Approximate estimation of cost

ST <l 3G AT
2) Analysis of rate

& &1 fasgtuur

3) Detailed estimation of cost

AT 1 e A
4) Taxation
-

Correct Answer: Taxation
a-frefor

Candidate Answer: Analysis of rate
X & fEectomor

QID : 118 - An electric generator is instailed in the building at a cost of Rs. 50,000. Calculate the annual sinking fund (Rs.) required to be deposited to accumulate the
whole amount of 5% compound interest. Assume the life of the electric generator as 10 years.

g # 50,000 T ¥ 0T 2 ek orotel] &1 srf 2enfira v man & | 5% gl sare W g i 5w e o [T anasaes e Sor i B (F0d) & o &R | A a6 e
1 ST &1 Sftaeere 10 @ &

Options:
1) 1535

2) 30695
3) 3975

4) 79503
Correct Answer: 3975
Candidate Answer: [ NOT ANSWERED |
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QID : 119 - No deduction is made for opening in estimation of masonry work up to

T2 & o & oA & e & forg R et AT R T &

Options:
1) 1 square centimeter
1a

2) 10 square centimeter
10 @

3) 100 square centimeter
100 @

4) 1000 square centimeter
1000 &f Firex

Correct Answer: 1000 square centimeter
1000 =°f &=

Candidate Answer: [ NOT ANSWERED |
QID : 120 - Calculate the weight (kg) per meter length of 25 mm diameter steel bar place at a spacing of 250 mm center by center for 1 meter.

25 Tt =g geoa AR i viY fiee s= & aur (fel) i morn = o i g e 3 g Fg grr 250 At FE S m mgan g

Options:
1) 0.96

2)3.85
3)7.7

4) 15.43
Correct Answer: 15.43
Candidate Answer: [ NOT ANSWERED |

QID : 121 - Which one is the upper limit of survey area (square kilometer) for use of plane survey?

et warol & guant & forg wderm & (af Rreiier) & st e S 82

Options:
1) 250

2) 300
3) 350

4) 450
Correct Answer: 250
Candidate Answer: 250

QID : 122 - Which one is the smallest scale?

T g & Bl AT &7

Options:
1)1:100

2)1:500
3)1:1,000

4) 1:2,500
Correct Answer: 1: 2,500
Candidate Answer: 1: 2,500

QID : 123 - A line of true length 398 m when measured by a chain of 20 m chain is recorded to be 400 m. What is the actual length of the chain (in m)?

g eiang 398 e i ue 6fEs of| 20 Hiew SiE & Usk S & Avn T dt 356t s 400 Hie gu 1 7 §) SR i arafaess Farg (e ) wng?

Options:
1) 19.9

2) 201
3) 204

4) 21.5
Correct Answer: 19.9
Candidate Answer: [ NOT ANSWERED |

QID : 124 - Calculate the correction for temperature for a tape of length ‘L, if the increase in temperature is T above the standard temperature. The coefficient of the
temperature for tape material is ‘a’.

wras 'L o 20 & A & e YU i o R, R e H giE A Ao F T SR 81 20 I o aroe e A )
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Options:

1) aT/L

2)-aT/L

3) +alL

4)-aTL

Correct Answer: +aTL
Candidate Answer: - aT/ L

QID : 125 - What is the correct sequence of the temporary adjustment of level?

TR & IRUTE YA &1 Tg IR 1 8?7
Options:
1) Centering, leveling and setting
, S AR
2) Leveling, setting and centering
THA, ErETul
3) Setting, centering and leveling
, SETeRRoT STR THE
4) Setting, leveling and centering
, TR R
Correct Answer: Setting, centering and leveling
, ST oft Trae

Candidate Answer: Setting, leveling and centering
, AT R e

QID : 126 - The values of whole circle bearing vary from .

Rgadafn Far_ Aweedt @
Options:

1)

0 to 90°

2)
0°to180°

3)
0= to 270°

4)

0° to 360°
Correct Answer:
0° to 360°
Candidate Answer:
0° to 360°

QID : 127 - Which of the following statement is cotrect for proper adjustment of the theodolite?

UTETEE & I e & Ry e A S a9 @ s adt gl
Options:
1) Axis of plate level is perpendicular to the horizontal axis
T TR 9 e, S o & dEad @
2) Line of collimation is perpendicular to the horizontal axis
ey, Sforet 18t & sigad &
3) Line of collimation is parallel to the vertical axis

g , FeATYR A F TR &
4) Line of collimation is perpendicular to the vertical axis

TR, Feafer Je Hegad g

Correct Answer: Line of collimation is perpendicular to the horizontal axis
YT, &St 3181 & waga &

Candidate Answer: [ NOT ANSWERED |

QID : 128 - Which of the followings are correct for sensitivity of the bubble tube?

Tae ed g gheeiier & fery Frafaien 7 € #m adt §?

Options:

1) Sensitivity decreases with increase in internal radius of the tube
= & AR Brean § gig & g1y Sderiea o9 g o §

2) Sensitivity decreases with increase in diameter of the tube.

o & 2 | g & a1y GagAsfieran w9 g Sl

3) Sensitivity increases with decrease in length of the tube.
mﬁﬁﬁﬁmﬁ%mu#ﬂﬁsﬁmaﬁm%

4) Sensitivity increases with decrease in viscosity of the liquid.
e e &Y e A &t & wry ddeafiea g et
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Correct Answer: Sensitivity increases with decrease in viscosity of the liquid.
e e &Y 2arar § ot & Y e g et

Candidate Answer: Sensitivity decreases with increase in internal radius of the tube
& % el B § g & a1y Gderfiear &0 g ol §

QID : 129 - Calculate the curvature correction (in m) if distance between the instrument and staff is 500 m.

e GUR (Hex #) i 1o ¥ o IuRT 3R w2 & &g 6 gt 500 HieR

Options:

1) 0.0196
2) - 0.0196
3) 0.0028
4) - 0.0028

Correct Answer: — 0.0196
Candidate Answer: [ NOT ANSWERED |

QID : 130 - Calculate the volume of the earthwork (in cubic meter) using trapezoidal method if the cross section areas of the three section of embankment at an
interval of 20 m are 40 square meters, 50 square meters and 80 square meters.

FrerraTR fafd o1 Iudi & gard 1 A (99 Hiex #) S 70ET &Y, 9R 20 HieR & Siawiel iR HRY F1E & i 9T & uR aedyd Sk 40 g dex, 50 @ ez ofr 80 i ez &)

Options:
1) 1067
2) 1700
3) 2200
4) 3200

Correct Answer: 2200
Candidate Answer: [ NOT ANSWERED |

QID:131-The soil transported by the gravitational forces.

TRyl g6l gR1___ g o1 sruage g )
Options:

1) alluvial soil

Serig

2) colluvial soil

3) loess

Rt difer o7t Pt
) till
et

Correct Answer: colluvial soil
et g

Candidate Answer: [ NOT ANSWERED |

QID : 132 - Which of the following is determined with the help of pycriometer?

ot & & @i feeTivier &1 wgraa € FufRa giar 87
Options:

1) Dry density and specific gravity

TEh e ofi i e

2) Void ratio and dry density

Tk ST SR 3k BT

3) Water content and specific gravity

et Il ofi iR e
4) Water content and void ratio

et Tl ofe feep arquma

Correct Answer: Water content and specific gravity
e ar ofi frfde e

Candidate Answer: Water content and specific gravity
it gt ofi e e

QID : 133 - The cell pressure and pore water pressure is increased from 0.1 N/sg. m to 0.26 N/sq. m and 0.07 N/sg. mto 0.15 N/sq. m respectively in the triaxial test.
The Skempton's pore pressure parameter is given by .

et e o Wi 2y = garg 01 o/ i AR | 0. 26 v / ot Hiem ofik 0.07 w1 / onf Aie= & 0.1 50 / avf Hiew sman: Smnfees odtaror dag man & | SRTHES & ST 87 o gET gl

GRRE mEEI
Options:
1)-3
2)-0.5
3)05
4) 2

Correct Answer: 0.5
Candidate Answer: -0.5

www.ErForum.Net

www.ErForum.Net www.ErForum.Net



www.ErForum.Net Page 39

QID : 134 - Which one of the following shows time factor (approximate), for 50% degree of consolidation?

ot & & @ 1 50% fft wie & & g e Ha 1oTe (srgEitae) = Remar g2

Options:

1) 0.2

2)0.5

31

4) 2

Correct Answer: 0.2
Candidate Answer: 0.5

QID : 135 - Which one of the following is true about ideal fluid?

P dd e g aedeg FaR ol &7
Options:

1) It is compressible.

e

2) It isincompressible.

I8 HEFR 2

3) It has high shear force.

3O I=T el A

4) It has high value of viscosity.
T I W

Correct Answer: [t is incompressible.
g srgha g

Candidate Answer: It is incompressible.

ug EEa &
QID : 136 - The diameter of droplet is 0.075 mm. What is the intensity of the pressure (N/sq. cm) developed in the droplet by surface tension of 0.000075 N/mm?

BIE 45 o = 0.075 1§ 10.000075 T4/ TATH &1 FdE o919 9 B¢ 45 A i gama (g / @ €l) & vaermn w0 &7

Options:

1) 0.4

2) 0.6

308

41

Correct Answer: 0.4
Candidate Answer: 1

QID : 137 - A rectangular block of dimensions 2 mx 1 m x 1 mis {loating in the water with immersing depth of 0.5 m. What is the weight of block (kN) if unit weight of
water is 10 kN/cubic meter.

Ueh TR Selich el o 2 Ht x 1 #1 x 1 #1ex 8, forgent 0.5 Hiex uril & g ol g1 Teers & 91y Ut # R 781 8| Seiich o1 aot &R & (el =qe=) SR Ui+l &1 gfaie a1 10
et =1 / w feR 21

Options:

15

2) 10

3) 15

4) 20

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED |

QID : 138 - On which principle equation of continuity is based?

PR a1 gieor frg fgia w amerfa 27

Options:

1) Conservation of energy

Frott a1 TRETOT

2) Conservation of mass

CEAT SR EHIETOT

3) Conservation of momentum
Akl

4) All option are correct
forerea Tgl &

Correct Answer: Conservation of mass

SEUHT 1 HREA0T

Candidate Answer: Conservation of mass

SEAT 1 TIEAUT

QID : 139 - If Reynolds numbers are 1000,000, then what is the approximate value of friction for the smooth pipe?

afe FHived Tw@aTg 1000,000 # & Rt urgy & forg axfor &1 e 7 & 2
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Options:
1) 0.1

2) 0.
3) 0.001
4) 0.0001

Correct Answer: 0.01
Candidate Answer: [ NOT ANSWERED |

QID : 140 - Which one of the following is correct for impulse turbine?

P & & 7 1 T o exaE & R md &2

Options:

1) Always operates in submerged condition

BHLN ST gleTd § aeldl 8

2) Converts pressure head into velocity with the help of vanes
T i Aeg § 2919 82 & T H JoF ST e

3% Operates by initial complete conversion to kinetic energy
Ftt & fore TR e qut wuisRer & Sefera g &

4) Operates by initial complete conversion to potential energy

el s & o vt ol suiao 9 g

Correct Answer: Operates by initial complete conversion to kinetic energy
nferst It 3 for WY qof wuieasor @ denfera g @

Candidate Answer: Operates by initial complete conversion to kinetic energy
Tferet i & ferg R fAer quf Suiaeor & dnfera gtar @

QID : 141 - When the water drawn from the central hole made in wash hand basin, the type of flow of water is o

U g R F AR FdEm et AR o g ui Frae FueR @)

Options:

1) forced vortex

M HER

2) free vortex

Heh HaE

3) tangential flow

ef warg

4) transitional flow

Geptideas UaTg

Correct Answer: free vortex
TRh Wl

Candidate Answer: free vortex
Heh Heaw

QID : 142 - Which of the following turbine is suitable to generate the power of 10,000 hp, working at the speed of 500 rpm under a head of 81 m?
e 7 § e = 2zare 10,000 wadt fi s 300 & & o uges €, 81 HieX & Us ¢ & i 500 smedien f i & ol &2 6 87

Options:

1) Propeller

TER

2) Francis

3) Kaplan
HAAT

4) Pelton
L

Correct Answer: Francis
ThITEE

Candidate Answer: | NOT ANSWERED |

QID : 143 - Calculate the specific energy (m-kg/kg) of the flow if the velocity of flow is 2.22 m/s and depth of flow is 1 m.

o e &1 4 2.22 Hiex / A8 § fF varg & Tewrg 1 Hiex & o faifve =i & moren (o i / o) F &9

Options:
1) 1.25
2)222
3322
4) 4.22

Correct Answer: 1.25
Candidate Answer: 3.22

QID : 144 - The sphere of diameter 0.02 m is falls in the fluid of kinematic viscosity 10 stokes with the terminal velocity of 0.02 m/s. What is the value of coefficient of
drag on the falling sphere?

0.02 drez ara Firen & 0.02 # / vy & efifaer dn & ary nfid e 10 Bem & ga d R 5 &) R e w e & oties o A @ 87
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Options:

1) 40

2) 60

3) 80

4) 100

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED |

QID : 145 - As one moves from head of the canal to the field, the duty of the water i

TR & §SH Ao B9 A6 U O & FUH S i A _ &

Options:

1) decreases

fare

2) either increases or decreases
a1 &l FEe a1 gen

3) increases

el

4) remains constant

T THM

Correct Answer: increases
gl

Candidate Answer: [ NOT ANSWERED |

QID : 146 - Which of the following is the correct assumption of the Kennedy's theory?

= & & o @ &Rt Rrgia & | awom 82

Options:

1) Shape of regime channel is semicircular.

S 2T o SR SredRi 8

2) Silt is in suspension due to buoyancy force.

AT T e HIROT, 3o e # g g

3) Silt is in suspension due to eddy formed from bottom of channel.

27e1 Y elg IR HoR IUF g & o, Yt fFreie & giar g

4) Silt is in suspension due to eddy formed from wetted perimeter of channel.
B & T, Yenfesg Freia & g 8|

Correct Answer: Silt is in suspension due to eddy formed from bottom of channel.

el Y T IR W I B & T, Yafe feie F g g
Candidate Answer: [ NOT ANSWERED ]

QID : 147 - What is the value of the lateral coefficient of the friction as per the IRC?

TSN & HTHR =0T & UTef 0TI ST A =T &7
Options:

1) 0.007

2) 0.01

3) 0.15

403

Correct Answer: 0.15

Candidate Answer: 0.15

Page 41

QID : 148 - Calculate the safe stopping sight distance (in m) for the descending gradient of 3% for a design speed of 80 km/h. Take coefficient of friction as 0.35 and

total reaction time as 2 seconds.

80 feret/aver it ueh fEemga &1 i & @Biw 3% & o arer & forg aiera e g ot (diex &) i o &% | aior & 1otk &1 A1 0.35 ofR et wfafehar a9 2 e 7 o)

Options:
1) 110.82
2) 123.26
3) 1018.41
4) 1092

Correct Answer: 123.26
Candidate Answer: [ NOT ANSWERED |

QID : 149 - Which of the following is the minimum limit (ppm) of the dissolved oxygen that must be in the water for survival of aquatic life?

Frfefere & & =i ot foufa sifeftem &y =gman g (ddrem) 2 St swefta sfem & sifera & g s 4 gt e

Options:

1)1

2)4

3) 10

4) 40

Correct Answer: 4
Candidate Answer: 4

www.ErForum.Net www.ErForum.Net

www.ErForum.Net



www.ErForum.Net Page 42

QID : 150 - A stream has flow of 20 cumecs and BOD concentration of 10 mg/] receives the industrial waste water having flow of 1.5 cumecs and BOD concentration
of 250 mg/Il. What is the BOD concentration (mg/1) of stream at downstream point of meeting of stream with industrial waste?

U YRT & WaTg 20 w3 & 51 10 Fefrum / wfiex 6t fieid ueman & ary sieiftes s=r & ar 1.5 F@em & uarg ofR 250 FAeffam / gar & diefid oo & o e g1
Siferfires R & 91y uT i e & sruaTe fiig W a6 et gemmre (eftom / e ) s g2

Options:

1) 2.67

2) 12.09

313

4) 26.74

Correct Answer: 26.74

Candidate Answer: [ NOT ANSWERED |

QID : 151 - A riveted joint may experience

Te i R gQ SIS o1 59T 93T B Ikl &
Options:
1) shear failure

2) shear failure of plates

el B et Bmeaa

3) bearing failure
Ferafin frgeran

4) All option are correct
Tt ey wEt €

Correct Answer: All option are correct
oot farerea Tgt &

Candidate Answer: All option are correct
e Tt &

QID: 152 - If p and d are pitch and gross diameter of rivets, the efficiency (n) of the riveted joint is given by

3R p 3R d o 3z Ry o1 aee = &, & Rae 353 gu site & et (n) &t fBreds gr1 fgan s 8

Options:

1) n=p/(p-d)

2) n = p/(ptd)

3) n= (p-d)/p

4) n=(p+d)/p

Correct Answer: n= (p-d)/p

Candidate Answer: [ NOT ANSWERED |

QID : 153 - If the moment of inertia of a section about its axis is | and its effective sectional area is A, its radius of gyration r about the axis is

R 3HT ot & aR # Ush WS i I 1 &107 | § ofk 39S vt erprfia & A &, 1 ot & ar | e i B gt

Options:
Nr=1/A

2) r=v(I/A)
3) r=v(A/)
4) None of these

Correct Answer: 1 = V(I/A)
Candidate Answer: r =/(1/4)

QID : 154 - Allowable working stress correspending to the slenderness ratio of double angles placed back to back and connected to one side of a gusset plate is
reduced to

T HTEeRTl FHTE S EIgY 1T & G5 2edT U & IEU §, Ued U U T g3 & W iR T T G AUk R i gi e A sp su A am ae S

Options:

1) 50%

2) 60%

3) 70%

4) 80%

Correct Answer: 80%

Candidate Answer: [ NOT ANSWERED |

QID : 155 - According to |.S. : 800 — 1871, lacing bars resist transverse shear equal to

HTETE : 800 - 18713 HTHR, AT T oy sy sHer=1t &1 ke TR T & |
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Options:

1) 1.0 % of the axial load
A=A 1.0%

2) 2.0 % of the axial load

effg AR A1 2.0 %

3) 25 % of the axial load

e AR FT2.5 %

4) 3.0 % of the axial load

Hefrg AR &F13.0 %

Correct Answer: 2.5 % of the axial load

AT AR FT2.5 %

Candidate Answer: 2.5 % of the axial load
efm IRHT 2.5 %

QID : 156 - Pick up the correct statement from the following

et & & ot e gag

Options:
1) Loaded columns are supported on column bases
g B T =iy, w9 ey R W e gt §
2) Column bases transmit the column load to the concrete foundation
THICTH & HTYR T TS Y B9 g IR IR 9= &
3) Column load is spread over a large area on concrete
T WK dhehle U Ueh 92 &7 A el gial &
4) All option are correct
[Ecre kN

Correct Answer: All option are correct
Toft fareu wet &

Candidate Answer: All option are correct
[EcrEerind

QID : 157 - In the composition of good bricks, the total content of silt and clay, by weight, should not be less than:-

areedt 221 &1 g & o, g ok it & et Tdiem, MR A, & %7 gl g1 AIRY |
Options:

1) 20%

2) 30%

3) 50%

4) 75%

Correct Answer: 50%

Candidate Answer: 20%

Page 43

QID : 158 - In factory buildings, the horizontal beams spanning between the wall columns supporting a wall covering are called

FRE hl IR §, Uek 1aT &Y shafan o1 GgRT &7 aret SR Tl & sty et Sfaw €9 & e Jar g

Options:
1) stringers

2) trimmers
3) girts
s

4) lintels
fereeg

Correct Answer: girts
o

Candidate Answer: girts
By

QID : 159 - The average shear stress (in kg/ em?) for rolled beam section, is

Jeg dr orgT & fRrY e draret A (. o /&eh?) A gran &
Options:

1) 845

2) 945

3) 1025

4) 1500

Correct Answer: 945
Candidate Answer: [ NOT ANSWERED |

QID : 160 - Web crippling generally occurs at the point where
3 RrufeiT e w3 g w e & ol
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Options:

1) bending moment is maximum
ohT &T0T

2) shearing force is minimum

SR ae =g &

3) concentrated loads act

Higa &S

4) deflection is maximum
SfRH

Correct Answer: concentrated loads act

Hiea wire srfdfras

Candidate Answer: concentrated loads act

e e wiftfas

QID : 161 - The strength and quality of concrete, depends upon:

hchlz Y aTehd SR ToTer, 39 oR fnf et 3:
Options:

1) grading of aggregates

e pkabicyl

2) surface area of aggregates

T 1 T ST
3) shape of aggregates

HHEI Th1 HIThT
4) All option are correct

ot Ren a1

Correct Answer: All option are correct
Toft fareu wet €

Candidate Answer: All option are correct
ofi Rreu Tl &

QID : 162 - The process of adding water to lime to convert it into a hydrated lime is termed as:-

7 e ) PR @ et R A wRa R e A aeerdiE |

Options:
1) watering

2) baking

&

3) hydration

ECEE]

4) slaking

LS iEo|

Correct Answer: slaking
ESiCo|

Candidate Answer: hydration

EHEEEE]

Page 44

QID : 163 - If aggregates completely pass through a sieve of size 75 mm and are retained on a sieve of size 60 mm, the aggregates will be known as elongated

aggregate if its length is not less than

IR F=d Of avg @ 75 el & arerr it el 9 e € otz 60 el anmeR Y sl W STe T S § |t g &6 wll 9 fiea & wu A S srem, aft godh e 59 e

TIE g
Options:

1) 81.5 mm
2) 91.5 mm
3) 101.5 mm

4) 121.5 mm
Correct Answer: 121.5 mm
Candidate Answer: [ NOT ANSWERED |

QID : 164 - The calcination of pure lime result in-

U@ 77 & Frapof (Haram) srafoms -
Options:

1) quick lime

ARA/ HTgE T

2) hydraulic lime

=
3) hydrated lime

TR S T
4) fatlime
e

kS
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Correct Answer: quick lime
@A/ Hge

Candidate Answer: hydrated lime
grRSfsgm

QID : 165 - Pick up the correct statement from the following

et 7 & Tt e gerd

Options:
1) An increase in water content must be accompanied by an increase in cement content

Stet w7 g e Il A gfg & g e

2) Angular and rough aggregates reduce the workability of the concrete
a%vﬁ'uaﬂ?tﬂ%aaﬁma%%zg?wﬂmaﬂﬁﬁ

3) Large size aggregates increase the workability due to lesser surface area
T ATHR & SFhel & FRUT 98 AR & THETT SHIAHTS H gig Hed &
4) All option are correct

@ g

Correct Answer: All option are correct
ot g TEt €

Candidate Answer: All option are correct
i RFa odi &

QID : 166 - According to |.S. 456, the number of grades of standard concrete mixes are

STETH : 456, F IFTHR 3/ (Fehre) few & e fir dem &
Options:

13

2)5

36

47

Correct Answer: 7

Candidate Answer: 6

QID : 167 - Curing a concrete for long period ensures better

e Ty e ST S R e @ g g dper ot & ghifaa gt §

Options:

1) volume stability
A R

2) strength

R

3) water resistance
et nfeRe

4) All option are correct
goft ey o &

Correct Answer: All option are correct
Tt g TEt €

Candidate Answer: All option are correct
ofiRru wdi g

QID : 168 - The main object of compaction of concrete is

SRz & TSI o1 = Fed gran g O

Options:

1) to eliminate air holes

B &5 o WA & & o

2) to achieve maximum density
T U e &

3) to provide intimate contact between the concrete and embedded materials
Fehie iR vrde gt & i ofge Iues ve A & g

4) All option are correct
oot e Tt €

Correct Answer: All option are correct
ofi Rreu Tl &

Candidate Answer: All option are correct
ofiRFsa odl e

QID : 169 - Construction joints are provided

fmfor siret agi v fmar s & ot
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Options:
1) where B.M and S.F are small
51 BM ofR SF8 §
2) where the member is supported by other member
gt T gER de I i §
3) at 18 m apart in huge structures
e deamnadi & oeman 18 HR M @ W
4) All option are correct
farren T8t &

Correct Answer: All option are correct

ooft Reen o &

Candidate Answer: All option are correct

it Rreren a8 &

QID : 170 - Pick up the correct statement from the following

et & & ot e gag

Options:
1) Construction joints are necessarily planned for their locations
Frmfor st =t 373 2 & e sl IR R AR e e @
2) Expansion joints are provided to accommodate thermal expansion
T & oy freame sirg wer v s &
3) Construction joints are provided to control shrinkage cracks
51 aTel gX1¥l oht i wet & forg Fmfor g suerey awig o
4) All option are correct
[Ecre kN

Correct Answer: All option are correct
Toft fareu wet &

Candidate Answer: All option are correct
[EcrEerind

QID : 171 - Grading of sand causes great variation in

¥ St A& 5o aga samr [ &1 SR a8

Options:
1) workability of concrete
Heh1Z o ST

2) strength of concrete
dhie Y arra

3) durability of concrete
dhle &1 wnfiE

4) All option are correct
Tt o ot €

Correct Answer: All option are correct
oofi Rrea Tgl &

Candidate Answer: [ NOT ANSWERED |

QID : 172 - The light weight aggregates are obtained from

A T T 09 O R ST §

Options:
1) sedimentary rocks
Bacieral

2) metamorphic rocks
b b i
3) igneous rocks

4) volcanic source

Correct Answer: volcanic source
TR Hid

Candidate Answer: volcanic source
ST Hid

QID : 173 - The bulk density of 2ggregates depends upon its

T T e 9 59 0% R wRar
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Options:

1) shape
HIFR

2) grading
A&

3) compaction

T
4) All option are correct
farren T8t &

Correct Answer: All option are correct

it Rerea Tt &
Candidate Answer: | NOT ANSWERED |

QID : 174 - Batching error means inaccuracy in the quantity of

AR e 1 AdeE & s A H Rl
Options:

1) aggregates

=T

2) cement
3) water
o

4) All option are correct

i fAeren wEl &
Correct Answer: All option are correct

ooft Rerer ot &

Candidate Answer: All option are correct

ooft Reren o

QID : 175 - The center needle of the attachment of the Vicat plunger projects the circular cutting edae by

fArdhe wieR & arTen-iah &g I T3 39 GRT I T8 ot i gufelt §
Options:
1) 0.2 mm

2) 0.5mm
3) 1Tmm

4) 5mm
Correct Answer: 0.5 mm
Candidate Answer: 0.5 mm

QID : 176 - The flakiness index of aggregates is the percentage by weight of particles in it whose thickness is less than

T4 & Jed QUi 99 HUT 2 gor & ufaed &, S g ]
Options:
1) 2/5th of mean length
ST T 1 2/5
2) 3/5th of mean length
Sffera S &1 3/5th
3) 4/5th of mean length
SffEr F=TE & 4/5
4) None of these
CEA

Correct Answer: 3/5th of mean length
Sffa FETg & 3/5th

Candidate Answer: 4/5th of mean length
ST T 1 4/5

QID : 177 - The field test for the quality of cement consists in putting a small quantity of cement in a bucket containing water. A good quality cement will:

iz it ot & e Fiwe e A o i v aedt d Hdz f 9 A gemn o g 81 e ot qoran ae e
Options:

1) immediately diszolve in the water

AU A 9 oan |

2) float on the water surface

ol & T W e Y

3) sink to the bottom of the bucket

el & A § g9 S g

4) produce the steam

ATY ST ITGA FRAT 8

Correct Answer: float on the water surface
o=t i g W T
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Candidate Answer: float on the water surface
ot &1 TdE IR U HY

QID : 178 - For the repair of roads

Tgo! Tt AL & g

Options:
1) low-heat cement is used

Y HiHE o s=Ee R ST e
2) rapid-hardening cement is used
ﬁﬁgmsﬁmﬁiﬁﬂtmﬁﬂmﬁﬁmm%

3) high-alumina cement is used

Feg-Heg A Hie o1 Iua fran S &

4) sulphate-resisting cement is used
Gethe-faiedt dife o gwmTe fran Siren 2

Correct Answer: rapid-hardening cement is used
eht & T B arelt e o e R &

Candidate Answer: rapid-hardening cement is used
it & T g areft iz @ s feha s &

QID : 179 - The advantage of reinforced concrete, is due to
vEferd shehle & AT 55k IR BT &

Options:
1) monolithic character
sREE afE

2) fire-resisting and durability
1 uferRiy o wnfae

3) economy because of less maintenance cost
T TEETE AT & R0y fefeEen

4) All option are correct
fomrea Tet &

Correct Answer: All option are correct

ooft Rerer ot &

Candidate Answer: All option are correct

ooft Reren o &

QID : 180 - By over-reinforcing a beam, the moment of resistance can be increased not more than

Qe & o1 TR e 9, AR T 4101 39 et 8 ) aene §

Options:
1) 10%
2) 15%
3) 20%
4) 25%

Correct Answer: 25%
Candidate Answer: 20%

QID : 181 - Spacing of stirrups in a rectangular beam, is

T IR 1 e f @R g i d

Options:

1) kept constant throughout the length

ot evard F R g &

2) decreased towards the center of the heam
v & g 1 o FH BT §

g;ncreased at the ends
w®

4) increased at the center of the beam
dmFdgdagare

Correct Answer: increzased at the center of the beam
d &g A aear g

Candidate Answer: decreased towards the center of the beam

& & Fg iR

QID : 182 - The radius of a bar bend to form a hook should not be less than
TS §F 91 o foIY U% IR it ATe & g o B 39 @ &0 g1 anfgy

www.ErForum.Net

www.ErForum.Net www.ErForum.Net



www.ErForum.Net

Options:

1) twice the diameter
=T &l gl

2) thrice the diameter
T8 ol & AT

3) four times the diameter
ST <l TR AT

4) five times the diameter
ST <l g AT

Correct Answer: twice the diameter
T o g

Candidate Answer: | NOT ANSWERED |

QID : 183 - Steel bars are generally connected together to get greater length than the standard length by providing
0T Y G i AT TR TR UE T1Y SISHR A dETs i ger & siftian dar P i e geT e g

Options:

1) straight bar splice
e

2) hooked splice

B8 TWeITed

3) dowel splice

e Ty

4) All option are correct

i fAeren wEl &
Correct Answer: All option are correct

ooft Rerer ot &

Candidate Answer: All option are correct

ooft Reren o

QID : 184 - The diameter of longitudinal bars of a column should never be less than

T & reed el & Ty &l 3HE FH FHH AL g ey

Options:
1) 6mm

2) 8mm
3) 10 mm

4) 12 mm
Correct Answer: 12 mm
Candidate Answer: [ NOT ANSWERED |

QID : 185 - The maximum ratio of span to depth of a slal simply supported and spanning in two directions is

T 1 e ST Wi ) TewE & S 5 Fawt 2 Ranolf smii ol e gt &, @ @

Options:

1) 25

2) 30

3) 35

4) 40

Correct Answer: 35
Candidate Answer: 35

QID : 186 - For a continuous slab supported at ends and carried over intermediate beams

e e ww & o & 5 8t oz omtds gt ofr geadt it o & s m gt
Options:

1) Max. sagging B.M. for the end spans = + (wl%)/10

Hfdrgem & BM i@ @ & g =+ (wi?) / 10

2) Max. hogging B.M. aver penultimate supports is equal to - (wI%)/10
Siftreraw gifft dt.om sl avf F IR - (wWi?) /10 FareR &

3) Max. sagging B.I. for the interior spans = + (wi2)/12
iftrram &fit BV s wwm & = + (wi?) /12

4) All option are coriect
oofi Rreu Tl &
Correct Answer: All option are correct

Tt ey @gt €
Candidate Answer: All option are correct
ooft ey T8t &
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QID : 187 - The advantage of a concrete pile over a timber pile is

Tl % SR(WSH) TR U 19 X &1 a5 AN GIeN &

Options:

1) no decay due to termites
&1 & ST Y e TR

2) no restriction on length
TS IR IS uieEy T8l

3) higher bearing capacity
J=d AR &HAT

4) All option are correct

oft Reren o1

Correct Answer: All option are correct

ot Rreren @1 &

Candidate Answer: All option are correct
Tt foerea TEt €

QID : 188 - A raft foundation is provided if its area exceeds the plan area of the building by.

U a2 g e fman s & afy 99 SEhe, $RA & Fratfor eEee I 39 ofdes g &

Options:

1) 10%

2) 20%

3) 30%

4) 50%

Correct Answer: 50%

Candidate Answer: [ NOT ANSWERED |

QID : 189 - The forces in the members of simple trusses may be analysed by

IR 29 & Teedi H gal o [Faewor so8 A snasa g

Options:
1) graphical method
e B

2) method of joints
wirel i fafy

3) method of sections
St & RRY

4) All option are correct

oft Rpen o &

Correct Answer: All option are correct
i frea wEi &

Candidate Answer: All option are correct

ooft Rerea ot &

QID : 190 - A rolled steel joist is simply supported at its end and carries a uniformly distributed load which causes a maximum deflection of 10 mm and slope at the
ends of 0.002 radian. The length of the joist will be

T I8 Wi 93 & 3595 BR W T8RI &1 & iR v A =0 3 fFafia wr dard 5w wror 10 @b o1 sfderas B ofz 0.002 Wamm & sk R e g &1 sige fr g
gift

Options:
1)10m

2)12m
3)14m

4) 16 m
Correct Answer: 16 m
Candidate Answer: [ NOT ANSWERED |

QID : 191 - A lift of welght W is litted by a rope with an acceleration f. If the area of cross-section of the rope is A, the stress in the rope is

qoT- W ot U forore w1 & Ty U @Rl f & H1Y 38T ST 8 | 3R T 8 S-SR ol S A §, @ TRt o1 g giem

Options:

1) W (1+f/g)/A
2) (1-g/f)/A

3) W (2+f/g)/A
a4) W (2+g/f)/A

Correct Answer: W (1+f/g)/A
Candidate Answer: [ NOT ANSWERED |

QID : 192 - A material which obeys Hooke's law is subjected to direct stress o0. At its elastic limit, which of the following statements is true?

U T S g & o &1 urer el 8, T8 WY a9 o0 & el g €1 oroe genies 9 Wy, P d | o I e w87
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Options:

1) Strain is equal to c0/E

@9 o) / Ed wWER §

2) Maximum shear stress = 00/2
fereRa sheret @ = o0 / 2

3) Strain energy = (00%/2E) x volume
TE It = (002 / 2E) x A
4) All option are correct

e

Correct Answer: All option are correct

of Reren w8 &

Candidate Answer: All option are correct
Tt frerea Tl €
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QID : 193 - Keeping the depth d constant, the width of a cantilever of length | of uniform strength loaded with a uniformly distributed load w varies from zero at the

free end and

B d T gad T § g, | 7 & SEfEiR & deE ol vrm o d fafe rw S de frE g gy d Pm gl S aw e m siR sm me

Options:

1) (2w/ad?) * |2 at the fixed end

(2w/od?) * 2 Pifga sfa &

2) (3w/ad?) * 12 at the fixed end

(3w/od?) * 2 Pfsya sia &

3) (3w/ad) * 2 at the fixed end

(3w/od) * 12 Frfaya ofa &

4) (5w/ad) * 2 at the fixed end

(5w/od) * 12 ffaya o &

Correct Answer: (3w/od) * I* at the fixed end
(3w/od) * 12 3 i &

Candidate Answer: (3w/od?) * |2 at the fixed end
(3w/od?) * 12 Piftya st &

QID:194 -

The force in EC of the truss shown in the figure

below is

e fem T ew H e e H M H Y pe ad

3

b
D E F
4t
A B
/ G
Options:
1) zero
R
2) 5t tension
5t =19
3) 5t compression
5t TdtgT
4) 4t tension
4t a1
Correct Answer: 5t conmpression
5t Hrge
Candidate Answer: zero
=

www.ErForum.Net

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net Page 52

QID:195-

In the cable shown in the figure below. the minimum
tension occurs at

i R e R 7 &g ¢ e . =g o7 fer gl 8

Options:
1) A

2)B

3)C

4) Between A and C
AR CFda

Correct Answer: C

Candidate Answer: Between A and C
AR CHdH

QID : 196 - A shaft is subjected to a bending moment M and a torque T simultaneously. The ratio of the maximum bending stress to maximum shear stress developed
in the shaftis

Uk MYE T 8107 M 3R Uk 2Teh T U= Ueh 1 e | aie & frenflm srfereras sraeeit awa & (o sifieas sienma aima &1 oruTa &
Options:

1) M/T

2) T/M

3) 2M/T

4) 2T/M

Correct Answer: 2M/T
Candidate Answer: 2T/M

QID : 197 - The shape factor of standard rolled beam section varies from

Ak SehT §H AR &1 AR HReE 75 A g

Options:
1) 1.10 to 1.20
1.1081.20

2) 1.20 t0 1.30
1.2081.30

3) 1.30t0 1.40
1.3091.40

4) 1.40 to 1.50
1.4091.50

Correct Answer: 1.10 to 1.20
1.1091.20

Candidate Answer: 1.10 to 1.20
1.1081.20

QID : 198 - In plastic analysis, the shape factor for a triangular section is

e Feem §, Behfn gz S Rramsr ST FRE &

Options:
1) 1.5

2)1.34
3)2.34

4) 25
Correct Answer: 2.34
Candidate Answer: 2.34

QID : 199 - Shear center of a half circular section of radius r and of constant thickness, lies at a distance of x from the center, where x is

e r & sred g AW o1 e g R PR A &, FE F x
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Options:
1) r/m
2) 2r/nt
3) 3r/n
4) 4/n

Correct Answer: 4r/mt
Candidate Answer: 3r/mt

QID : 200 - A three-hinged arch is generally hinged at its supports and

e f-fEst aren o s W3 WeR Wik R e frm g &
Options:
1) at one quarter span
e drTE ety §
2) at the crown
TPE™
3) anywhere in the rib
# el oft

4) None of these

Correct Answer: anywhere in the rib
R 7 el oft

Candidate Answer: anywhere in the rib
o & gl oft
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